
PC11 Rational Exponents Assignment Solutions 
 

1. (−𝟑)𝟒 
𝟖𝟏  

 

2. −𝟑𝟒 

−𝟖𝟏  

 

3. 𝟎𝟏 ÷ 𝟏𝟎 
𝟎

𝟏
= 𝟎  

 

4. 𝟎𝟎 + 𝟎 

Undefined 

 

5. −𝟑(−𝟑)−𝟐 

−𝟑 ×
𝟏

𝟗
= −

𝟏

𝟑
  

 

6. (−𝟏)𝟐𝟎𝟐𝟒 

1  

 

7. 𝟑−𝟐 
𝟏

𝟗
  

 

8. (
𝟐

𝟑
)

−𝟑
 

(
𝟑

𝟐
)

𝟑
=

𝟐𝟕

𝟖
  

 

9. 
𝒙(𝒙𝟑)

𝟒
(𝒙𝟐)

𝒙−𝟑  

𝒙𝟏𝟓

𝒙−𝟑 = 𝒙𝟏𝟖  

 

 

10. (
𝟒𝒂𝟑𝒃𝟓

𝟔𝒂𝒃−𝟏)
−𝟐

 

(
𝟔𝒂𝒃−𝟏

𝟒𝒂𝟑𝒃𝟓)
𝟐

= (
𝟑

𝟐𝒂𝟐𝒃𝟔)
𝟐

=
𝟗

𝟒𝒂𝟒𝒃𝟏𝟐    

 

11. Simplify 
√𝟐𝟕

𝟑
  

√𝟑  

 

12. Rationalize 𝟖−
𝟏

𝟐  
𝟏

𝟐√𝟐
×

√𝟐

√𝟐
=

√𝟐

𝟒
  

  

13. Write 𝒙
𝟏𝟏

𝟐  as a mixed radical 

√𝒙𝟏𝟏 = √𝒙𝟓 ∙ 𝒙𝟓 ∙ 𝒙 = 𝒙𝟓√𝒙  

  



14. (𝟎. 𝟎𝟎𝟎𝟒)𝟏/𝟐 
𝟎. 𝟎𝟐  

 

15. √√𝒙
𝟓

= 𝒙𝒌.  Find 𝒌 

(𝒙
𝟏

𝟐)

𝟏

𝟓
= 𝒙𝒌  

𝟏

𝟏𝟎
  

 

16. Solve 𝟐𝒂𝟐 = 𝟓𝟎  

𝒂𝟐 = 𝟐𝟓  

𝒂 = ±𝟓  

 

17. Solve 𝒙𝟔 = 𝟔𝟒  

𝒙 = ±𝟐  

 

18. 𝟔𝟒−
𝟐

𝟑 

(𝟒𝟑)
−

𝟐

𝟑 = 𝟒−𝟐 =
𝟏

𝟏𝟔
   

 

19. Show that 𝟏−𝟏.𝟐 = 𝟏   
𝟏

𝟏𝟔/𝟓 
=

𝟏

√𝟏𝟔𝟓 =
𝟏

𝟏
= 𝟏  

 

20. Convert √𝟓𝟒𝟎𝟎
𝟑

 to a mixed radical 

√𝟐 × 𝟑 × 𝟑 × 𝟑 × 𝟐 × 𝟐 × 𝟓 × 𝟓
𝟑

   

 𝟔√𝟐𝟓
𝟑

 

 

21. Simplify 𝒙(√𝒙𝟐𝟓
)(√𝒙𝟑) using fractional exponents in the form 𝒙𝒂/𝒃 

𝒙𝟏 ∙ 𝒙
𝟐

𝟓 ∙ 𝒙
𝟑

𝟐  

𝒙
𝟐𝟗

𝟏𝟎  
 

 

22. Simplfy 
𝟑𝟓𝟔𝟎𝟎

𝟓𝟔𝟎𝟎   

(
𝟑𝟓

𝟓
)

𝟔𝟎𝟎
= 𝟕𝟔𝟎𝟎  

 

23. Solve 𝟒𝟗𝟏−𝟑𝒙 = 𝟑𝟒𝟑𝟐𝒙+𝟓  

(𝟕𝟐)
𝟏−𝟑𝒙

= (𝟕𝟑)
𝟐𝒙+𝟑

  

𝟐 − 𝟔𝒙 = 𝟔𝒙 + 𝟗  

−𝟕 = 𝟏𝟐𝒙  

𝒙 = −
𝟕

𝟏𝟐
  

 

 

24. Solve 𝒙𝟑/𝟕 = 𝟑 

𝒙 = 𝟑
𝟕

𝟑  

 

 



25. Solve 𝒙𝟐/𝟓 = 𝟓  

Let 𝒂 = 𝒙
𝟏

𝟓  

(𝒙
𝟏

𝟓)
𝟐

= 𝟓  

𝒂𝟐 = 𝟓  

𝒂 = ±√𝟓  

 

𝒙 = ±𝟓
𝟓

𝟐  

 

 

26. Solve (
𝟑𝟏−𝟑𝒙

𝟑𝟐𝒙+𝟐)
𝟑

= 𝟐𝟕 

(𝟑𝟏−𝟑𝒙−(𝟐𝒙+𝟐))
𝟑

= 𝟑𝟑  

Cube root both sides 

(𝟑𝟏−𝟑𝒙−(𝟐𝒙+𝟐)) = 𝟑𝟏  

−𝟓𝒙 − 𝟑 = 𝟏   

−𝟒 = 𝟓𝒙  

𝒙 = −
𝟒

𝟓
  

 

 

27. Evaluate 
−𝟑𝟑𝟎𝟎𝟎

(−𝟑)𝟐𝟗𝟗𝟖 

−
𝟑𝟑𝟎𝟎𝟎

𝟑𝟐𝟗𝟗𝟖 = −𝟑𝟐 = −𝟗   

 

 

28. Show that √𝒂𝒃𝒄
= (√𝒂𝒄

)
𝒃

 

𝑳𝑺 = √𝒂𝒃𝒄
= 𝒂𝒃/𝒄  

𝑹𝑺 = (√𝒂𝒄
)

𝒃
= (𝒂

𝟏

𝒄)
𝒃

= 𝒂𝒃/𝒄  

𝑳𝑺 = 𝑹𝑺   

 


